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2.1  
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2.2 

 

OP(φ)² = (2 * cos φ - 2)² + (0,5 * sin φ)² 

 
OP(φ)² = 4 * cos² φ - 8 * cos φ + 4 + 0,25 * sin² φ 

 
OP(φ)² = 4 * cos² φ - 8 * cos φ + 4 + 0,25 * (1 - cos² φ) 

 
OP(φ)² = 4 * cos² φ - 8 * cos φ + 4 + 0,25 - 0,25 * cos² φ) 

 

OP(φ)² = 3,75 * cos² φ - 8 * cos φ + 4,25  
 

OP(φ) = �3,75 * cos² φ - 8 * cos φ + 4,25  LE 

 
2.3 

 
OR² = (3 * cos φ)² + (- 3 * sin φ)² 

 

OR² = 9 * cos² φ + 9 * sin² φ 
 

OR² = 9 * cos² φ + 9 * sin² φ 
 

OR² = 9 * cos² φ + 9 * (1 - cos² φ) 
 

OR² = 9 |ⱱ 
 

OR = 3 LE --> OR ist unabhängig von φ 
 

2.4 

 

Für eine Raute gilt OP = OR: 
 



3 = �3,75 * cos² φ - 8 * cos φ + 4,25  |² 

 

9 = 3,75 * cos² φ - 8 * cos + 4,25 | -9 
 

3,75 * cos² φ - 8 * cos - 4,75 = 0 
 

A,B,C - Formel: 
 

A = 3,75, B = - 8, C = - 4,75 
 

 

               - (-8) ± �(-8)
2
-(4*3,75*(-4,75))       8 ± �135,25   

cos φ1,2 = ------------------------------------- = ----------------- 
                                2 * 3,75                              7,5 

 
                 8 ± 11,63      

cos φ1,2 = ------------- 
                      7,5   

 
cos φ1 = 2,62 keine Lösung > 1 

 
cos φ2 = - 0,484 --> φ2 = 118,95° (oder 360° - 118,95° = 241,05°) 

 

 


